Model question paper, Basic Mathematics
B.com(prog) Sem v
Group-A
(Objective Type Questions)

Answer any four questions of the following

1. Select the correct answer of the following questions: 2x10 =20

foferiRad ustl & Tgt IR BT I8 By

(@) If A=2, M=26, Z=52 then BET=?
gfe A=2,M=26,Z=52aBET =?

) 72
i) 44
iii) 64
iv) 54

(b) 0.75:x::5:20, then x is equal to...
0.75:x::5:20, 9 X ST ..

) 6
i) 3
iy 10
iv) 15
(c) L.CMofl18,27,and 54.....
) 9
i) 27
i) 18

lv) 54



(d)

(€)

(f)

@)

Those numbers which are divisible by 1 and the number itself only are
called..

I T Y 1 qUT Had 3T 3T AU § el o...

) Prime number ST AT
i)  Odd number [CLEESE:!
iii)  Natural number UThidd T=AT

iv)  Composite number TG AT

which of the following is wrong.

fafRea 8 S s W Tad g

) Sl= PRT/100

i) R = S.1 x100 /PT

i) P = RT /S.l1 x100

iv) SlI= A-P

Area of a parallelogram is..

T FHFIGR IJHS BT &% 3|

i)  Length x breadth TS x AIST8
i) Base x height I x HaATg
i) 2(I+b)

iv)  None of the above SWIad H Q PIs Tal

life : Death :: Start: ?

) Age

i) End

i)  Time

iv)  beginning



(h)

()

Doctor is related to ‘patient’, in the same way ‘Lawyer’ is related to..

Slaex I J Yeiftd g, ST Re abiad ... Y J&fIa §

) Customer PIGED
i)  Criminal JTORTET
iii) Magistrate aforee
iv)  Client CNIES

Successive discount of 10% and 20% is equivalent to...

10% 3iR 20% & HH® Fe & R @ ...
i) 30%
i) 15%
i) 28%
iv)  12%

1740 =12 x 4070 =110 =7

) 5635
i) 5365
iii) 5465
iv) 5445



Group-B
(Short-answer Type Questions)
Answer any four questions of the following

5x4=20

2

if V/y = 4x, then find the value of x; .

IRy = 4x & A TE TE R % .

Find HCF of 15, 45 and 90.
15, 45 3R 90 BT HCF 1d I

A and B are married couple. X and Y are brothers. X is the brother of A.
How is Y related to B ?

A3RBfaRRITNS I X MR Y HS B X, ABTHS 81 Y, B Y Ha Jafdd g7

If ‘tree’ means ‘mountain’, mountain means ‘water’, water means ‘jungle’,
jungle means ‘bus’ , bus means ‘truck’ and truck means ‘house’ then where
do the fish live?

gt us w3l udd’, ugrs &1 Y, 9@’ |, 5T T MY ST’ |, ST
FT Y T, TP TH 3R H P13 g <l Sl Dl
3l 87

A man bought a radio for *800 and spent 2400 on it. He sold it for 1500.
Find his profit or loss percent ?

U AT 7 T800 H Teh IS WieT 3R IY W 400 T fpU1 39 39 1500 &
ST 3BT Y T g1 Ufa=Id I1d Hifor?

If an article is sold for 387 after allowing a discount of 14%.find the
marked price of the article .

e DS M 14% B Fe & d1G 2387 T ST SI1dT 8, af HId b G Jed J1d .
A :B=3:2,B:C=23:4then find A:C?




9.

10.

11.

12.

13.

A:B=3:2,B:C=3:48dl A: CJId SHIfrT?
Divide 480 in two part that, first part is 24 more than second.

480 D &1 YT H fauTiord Y, Ugdl YR, g H 24 31U ¢ |

Group-C
(Long-answer Type Questions)
Answer any two questions of the following

15x2=30

The sides of a triangle are 20 cm, 39 cm and 51 cm respectively. Finds its
area.

TS ISl B Yo Ha=n: 20 I, 39 It 3R 51 Ift § | DT &% SIS,

A number consists of two digits whose sum is 11. If 27 is addedto the
number, then the digits change their places. What is the number ?

3l 3ipl Pt Uep T forgas 3fehl o1 TNT 11 §. Ife T H 27 SST 9idl 8, af 37
3T WM TS & | ST R 2

15 person working 8 hours a day can complete a piece of work in 25 days,
then in how many days 12 persons working 10 hours a day can complete the
same work?

T 3 8 ¢ W A 15 afa 25 oAl A v QT R webal &,
Uffe 10 9¢ &1 Hh 12 Hfad ST HH B fdva- fardl J BT 2

A certain sum amounted to 27350 in 2 years and to *8757 in 3years. Find
the sum and rate of interest

T PATAR 2 A 27350 R 3 ATAH 28757 B TS | ST b1 TR 3R & J1d
CHISIY




Ans. Q.1:

f)
9)
h)

J)



